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clear all;
close all;
cle;

L=30;
n = 0:0.1:L-1; % 300 samples

% Discrete Time Signal x1(n)
%
f2 = 1/16;

x1 = cos(2xpixf2#n);

% Plot the magnitude of x1
figure()

stem(x1)
title('xl=costnn/8)"');
xlabel('Time")
ylabel('Magnitude")

% Discrete Time Signal x2(n)
%
f2 = 1/16;

x2 = cos(2kpixf2kn).”2;

% Plot the magnitude of x2
figure()

stem(x2)
title('x2=cos~2(nn/8)"');
xlabel('Time')
ylabel('Magnitude')

% Discrete Time Signal x3(n)

%

f2 = 1/16;

x3 = cos(2xpixf2¥n).~3;

% Plot the magnitude of x3
figure()

stem(x3)
title('x3=cos~3(mn/8)"');
xlabel('Time')
ylabel('Magnitude')

mnn

% Discrete Time Signal x4(n)
%
f2 = 1/16;

x4 = cos(2xpixf2xn)."4;

% Plot the magnitude of x4
figure()

stem{x4)
title('x4=cos*4(nn/8)"');
xlabel('Time")
ylabel('Magnitude')
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